Fill in the blanks with the
correct comparative forms of
the adjectives in brackets

1) Johnis than Kate. (young)
2) Terry is than Mary. (fat)
3) Kate is than Terry. (slim)
4) Mary is than Kate. (old)
5) John is than Terry. (angry)
165cm - 106 kg 172cm - 45kg 6) Terry is than Mary. (happy)
3> years old 17 years old 7) Mary is than Terry. (young)
rm@w ) VD@DU 8) Kate is than John. (old)
‘ a 9) Terry is than Kate. (short)
Q‘Q ) 78 10) John is than Mary. (tall)
11) Mary is than Kate. (short)
12) Kate is than Mary. (young)
AV & 13) John is than Terry. (slim)
160cm - 80kg 168 cm - 40 kg 14) Kate is than John. (ha
47 years old 15 years old ) ( PPY)
1) The blue car is than the
green car. (expensive)
2) The yellow car is than the
pink car. (cheap)
3) The pink car is than the
blue car. (fast)
4) The green car is than the
yellow car. (slow) 1965 - 120 km/h 1940 - 85km/h
>) The blue car is than the £3500 - 2200 kg £2700 - 1800 kg
yellow car. (heavy)
6) The yellow car is than the
green car. (light)
7) The pink car is than the
yellow car. (good)
8) The green car is than the
blue car. (old)
9) The yellow car is than the
blue car. (new)
10) Thke bluega;ls than the 2010 - 205 km/h 2005 - 180 km/h
pink car. (bad) £7500 - 1400 kg £6000 - 1100 kg
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Fill in the blanks with the
correct comparative forms of
the adjectives in brackets

165cm -
55 years old

106 kg 172 cm - 45kg

17 years old

ien

=

<)

160cm - 80kg 168cm - 40kg
47 years old 15 years old

1) John is younger than Kate. (young)
2) Terry is fatter than Mary. (fat)

3) Kate is slimmer than Terry. (slim)

4) Mary is older than Kate. (old)

5) John is angrier than Terry. (angry)
6) Terry is happier than Mary. (happy)
7) Mary is younger than Terry. (young)
8) Kate is older than John. (old)

9) Terry is shorter than Kate. (short)
10) John is taller than Mary. (tall)

11) Mary is shorter than Kate. (short)
12) Kate is younger than Mary. (young)
13) John is slimmer than Terry. (slim)

14) Kate is happier than John. (happy)

1) The blue car is more expensive than
the green car. (expensive)

2) The yellow car is cheaper than the pink
car. (cheap)

3) The pink car is faster than the blue car.
(fast)

4) The green car is slower than the yellow
car. (slow)

5) The blue car is heavier than the yellow
car. (heavy)

6) The yellow car is lighter than the green
car. (light)

7) The pink car is better than the yellow
car. (good)

8) The green car is older than the blue
car. (old)

9) The yellow car is newer than the blue
car. (new)

10) The blue car is worse than the pink
car. (bad)
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1965 -
£3500 -

120 km/h
2200 kg

1940 -
£2700 -

85 km/h
1800 kg

2010 -
£7500 -

205 km/h
1400 kg

2005 -
£6000 -

180 km/h
1100 kg
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